
Soustraction Horizontale de Décimaux (A)

Calculez chaque différence.

75,22 − 52,86 = 96,44 − 6,75 =

55,01 − 8,28 = 36,30 − 4,32 =

4,99 − 2,4 = 7,6 − 5,21 =

8,7 − 4,6 = 21,8 − 5,4 =

76,8 − 5,94 = 70,6 − 57,9 =

6,49 − 4,27 = 34,50 − 3,29 =

66,5 − 1,3 = 59,67 − 9,55 =

96,8 − 6,86 = 7,1 − 3,09 =

51,75 − 9,9 = 97,2 − 9,94 =

96,6 − 6,30 = 46,1 − 8,5 =
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Soustraction Horizontale de Décimaux (A) Réponses

Calculez chaque différence.

75,22 − 52,86 = 22,36 96,44 − 6,75 = 89,69

55,01 − 8,28 = 46,73 36,30 − 4,32 = 31,98

4,99 − 2,4 = 2,59 7,6 − 5,21 = 2,39

8,7 − 4,6 = 4,1 21,8 − 5,4 = 16,4

76,8 − 5,94 = 70,86 70,6 − 57,9 = 12,7

6,49 − 4,27 = 2,22 34,50 − 3,29 = 31,21

66,5 − 1,3 = 65,2 59,67 − 9,55 = 50,12

96,8 − 6,86 = 89,94 7,1 − 3,09 = 4,01

51,75 − 9,9 = 41,85 97,2 − 9,94 = 87,26

96,6 − 6,30 = 90,3 46,1 − 8,5 = 37,6
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